
 4
50

 

 4
0 

 1000 

 6
42

 

REVISIONS

REV. DESCRIPTION DATE BY

Material

Scale

Art.nr.

Last saved by

Created by Page

Name

Rev

A4
1:16 1/1

647160

Jonathan 2021-10-29
Jonathan 2021-10-29

FormatLast saved

Created date

RomboSeat



 4
0  4
50

  7
00

 

 1000 

 450 

 300 

 6
42

 

RomboTable is bought separately.

REVISIONS

REV. DESCRIPTION DATE BY

Material

Scale

Art.nr.

Last saved by

Created by Page

Name

Rev

A4
1:18 1/1

647161

Jonathan 2021-10-27
Jonathan 2021-10-29

FormatLast saved

Created date

for RomboTable
RomboSeat



 4
0  4
50

 

 1
13

0 

 1
20

0 

 7
00

 

 1000 

 6
42

 

 450 

 300 

RomboScreen & RomboTable is bought separately.

REVISIONS

REV. DESCRIPTION DATE BY

Material

Scale

Art.nr.

Last saved by

Created by Page

Name

Rev

A4
1:18 1/1

647162

Jonathan 2021-10-27
Jonathan 2021-10-29

FormatLast saved

Created date

for RomboTable & RomboScreen
RomboSeat



 22 (textile) 
 12 (core) 

 1
13

0 

 1000  R70 (x4) 

 2
2 

 2
8 

 28 

 R
37

0 

 120° 

 22 (textile) 
 12 (core) 

Material

Scale

Art.nr.

Last saved by

Created by Page

Name

Rev

A4
1:14 1/1

-

647163

These measurements refer  to the frame work
and do not include upholstery, seam or zip

2,0
1,0
0,5
0,2

-
-
-
-

(200)
200(50)
50(20)
20(1)

Dimension Deviation
Tolerances (mm)

2021-10-22
Jonathan 2021-10-29

FormatLast saved

Created date

Laminated fabric

Plywood solid core

Section view of RomboScreen

Jonathan

RomboScreen



x1 x4

x4

 Götessons Industri AB, Rönnåsgatan 5B, 523 38 ULRICEHAMN - SWEDEN
Tel. +46 (0)321-68 77 00, info@gotessons.se, www.gotessons.com

Utg.

GBS

(1)

Innehåll RomboSeat
Content RomboSeat

Monteringsanvisning
RomboSeat

Mounting instruction
RomboSeat

2021-10-20 2021-12-16

Mounting instruction RomboSeat
Monteringsanvisning RomboSeat



x1

x1
5mm

x6
M6x65

x6
7x16x1,5

Undersida
Bottom view

x6
7x16x1,5

x6
M6x65

Lägg RomboScreen på golvet innan montering börjar. 
Montera RomboScreen på RomboSeat genom att skruva fast den
inifrån RomboSeat. Montera alla skruvarna innan du drar åt dem.
Start with putting the RomboScreen on the floor. 
Fix RomboScreen to RomboSeat with screws from the inside of the RomboSeat.
Mount all the screws before tightening. 

Golv
Floor

(2)

Innehåll RomboScreen
Content RomboScreen

Mounting instruction RomboScreen
Monteringsanvisning RomboScreen



x1 x1

x1

x4
M6x14

x6
M6x25

x2
M6x70

x6
M6x25

K
M6x70

L

x4
M6x14

Content RomboTable
Innehåll RomboTable

Mounting instruction RomboTable
Monteringsanvisning RomboTable

Drag ej åt skruvarna.
Do not tighten the screws.

Efter detta steg, drag åt alla skruvar.
After this step, tighten all screws. 

(3)

1

2 3



2022-03-09GÖTESSONS PRODUCT SHEET

+46 (0)321-687700 INFO@GOTESSONS.SE GOTESSONS.SE

ROMBOSEAT

A stylish seating furniture that makes it easy to decorate thanks to its unique shape. The seating furniture can
be ordered: freestanding, with table, screen or with both table and screen. Designed by Henrik Kjellberg and
Jon Lindström from o4i Design Studio.

PRESCRIBED TEXT

RomboSeat
Rhombus-shaped seating with foam laminated fabric
Optional: with table, with screen, with table + screen
Optional: electrical outlet in the seat
Stand table: black metal, white metal
Laminate: ash, oak, walnut, black, white
Textile:
Measure: W 1000 H 450 D 650 Seat height: 450
Table: RomboTable
Screen: RomboScreen



2022-03-09GÖTESSONS PRODUCT SHEET

+46 (0)321-687700 INFO@GOTESSONS.SE GOTESSONS.SE

ARTICLES

 ART. NO SIZE / DESCRIPTION W: H: D:  

 647160- RomboSeat free seating 1000 450 650  

 647161- RomboSeat to RomboTable 1000 450 650  

 647162- RomboSeat to RomboTable & RomboScreen 1000 450 650  

 647163- RomboScreen 1000 1130 250  


